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General Instructions:

()
(i)

()

The question paper has 31 questions in all. All questions are compulsory.

Questions from serial number 1 to 10 are Multiple Choice Questions. Each question
carries 1 mark.

Questions from serial number 11 to 22 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 marks from Geography only. After

completion, attach the map inside your answer book.
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(@) o= b @

(€) T (d) —HRER

Which one of the following Philosophers had forwarded the principle of voting

by the assembly as a whole, where each member, should have one vote; during

the rule of Louis XVI.

(a) Mirabeau (b) Rousseau

(c) John Locke (d) Montesquieu

wiE ¥ 18 & w1 # e @1 ' 2rge’ T TR e 1 2 e e ? 1
@ TF (b)  FEH

() T (@ = )

In the eighteenth century in France, Tithes were the taxes paid by the peasants to

the :

(a) state (b) nobles

(c) lords (d)  church

Frefofiad & & fora Sw =t i swwa = % a9 fred €72 1
(@)  THmFTER (b)  TEMRME

© ¥ (@ oS

Which one of the following countries share a common boundary with India ?

(a) Afganistan (b) Indonesia

() Iran (d) Thailand

TR 9 I G ol W A e W e ? 1
() W ®) g

() Tm (@  emEd

Which is the largest Peninsular river of our country ?

(a) Mahanadi (b) Indus

(c) Ganga (d) Godavari

A AT & g B BSAA FX I8 HSIGU Tl & AN F1 o ? 1
(@)  fYE 9

(b) HHF FHEH

() o AN WY oM 1 ATUFHR

(d)  iwE T w1 AR

What was the major demand of striking workers led by Lech Walesa ?
(a) Higher pay scales

(b) Less working hours

[N Rioht +A farrm inmdanandant Tvada siniane
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10.

11A.

frafafaa § @ @ ) TeHIfaE 9 1 789 GeaeRr AT A TR ar?

@) W9 e Te aret (b)  wFE

)  wfaefEr d) e o o o
Which one of the following political parties was founded by Salvador Allende ?
(a) Polish united workers party “(b) Communist paty

(c) Solidarity (d)  The socialist party of Chile

frafafes 3§ | ®F @ w ywaE’ B wRefig s e ?

(@) o = ceas w1 wgfhae um

(b)  TrEl SRS 1 e |

() T ui=arms wed e Sfaum & arieis o wimfed g €
d) et & o faem @R nfafafusl w froferers fagr

Which one of the following statements defines the preamble ?

(a) A preliminary version of a legal document
(b) A distinct section of a document
(©) An introductory statement containing guiding values in a constitution

(d)  The fundamental principles of one’s thoughts and actions

g iR qared & saren % foau fetatea § @ e 5 smavasa 76 €t ? 1
@ ®

(© S (d) @R

Which one of the following is NOT a requirement for production of goods and

services ?

(a) Land (b) Labour

(©) Capital (d)  Market

frferfas & @ fora o from & g0 =g wHet SR @l fommel S & Saes 1
TREEf H S S wehdl 7 2

(@) (b)  fEEE

()  Torsicht (d) = g

Large population, which is considered a liability can be turned into a productive
asset by investing in

(@) Land ‘ (b) Irrigation

(c) Electricity (d) Human capital

T &l W g fRE YR SIS 0TS W § 2 1
(a)  HEH SUSE (b)y oS SR

(¢ fofm sismmd d) I wsft

Which type of unemployment is common in urban areas ?
(a) Seasonal unemployment (b) Disguised unemployment
(o) Educated unemployment  (d) All the above

‘gt R A T 1 U ST G AR % 98 6 SR <) ve fafag 1+2=3

P vty e ™ wAae =D e b
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11B.

12A.

12B.

13.

14,

15.

16.

17.

18.

Describe the incident known as ‘Bloody Sunday’? State any two events after the
Bloody Sunday which led to the revolution of 1905 in Russia.
3re@ar JOR

Tom favags % g9 W gL HE 6 y9E fafew )

State any three effects of the First World War over Europe.

I gRI ST Wrfeehisn ol HIEFHA TR F 6 ¢ 31 T fmmel T Al it
AT T |

Explain any three steps taken by Stalin to implement his collectivisation
programme.

39T JOR

A H fegoR ST 1 AR iYd A hY 99 A7 hIE 9F SR T fRfEw) 3x1=3

How did Hitler become the popular leader of masses in Germany ? Explain any
three reasons.

T IR 7§ 7 AR <9 F % el | oRdl € 3 59 w1 Hew €2 1+1+14=3
What is the Standard Meridian ? From where does it pass through in our

country ? What is its significance ?
A § 390 HSM & IH W w1 AW fafae s 73 iR gan fradi 9 e €10 swen 1+2=3
T < feiward fafaw)

Name the part of the Northern Plains formed of newer, younger deposits of the
flood plains in India. Mention any two characteristics of it.

fearer™ & T S il &% W fafee agn yom W Sl T R fatee) 1Y2+1Y;2 =3
Name three longitudinal divisions of Himalayas. State one characteristic feature

of each.

"t AME % Toe steafyre anveRit B 39 e B g T %R0 S R FIfT | 3x1=3

‘Lakes are of great value to human beings’. Justify the statement with three
suitable reasons.

WvE H 37T 1980 H ‘T Sele wREM ' % ASGU g i T TEAT 9 QA W 3x1=3
=8l i =il w1 gl it

Describe any three demands of the workers of ‘Lenin Shipyard” during their
strike which started in August 1980 in Poland.

1980 ¥ fs=red o s R W® a1 w1 A fAafEw ) 9% wEa ®) dishdi-aE =l A6l 1+2=3
YT S Hhal ? IS G HROT TR HIfSC | .

Write the name of the leader ruling Zimbabwe since 1980. Why can not his rule
be called democratic ? Explain any two reasons.
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19.

20.

21.

22,

23.

24,

25A.

25B.

26.

27.

28.

29.

IRA & WM % T vl S 99 s, S iR o & ote TR S|

Explain the meaning of the terms secular, sovereign and Republic as the key
words to the constitution of India ?

TR § TE R F 5 & w9 § e fafmio st 6 9 ot @ ave
HIfT |

Describe the three fetatures of small - scale manufacturing as a non - farm
activity in Palampur.

Y ) FEHI hI AR HITT 57 W TFHE S oEa FR #d g
Explain any two factors on which the quality of population depends.

e R TR enffen framedi § 0 @ o= v Hfsw)

Explain any two differences between economic and non economic activities.

wiE 1791 § Jvrel srdreel gRI S TC wiae W el die fadmaned 9w
HIY |

Explain any five features of the constitution of 1791, framed by the National
Assembly in France.

Wid H i | qa Afgensdl st YfHeH! T qedish S |

Evaluate the role of women in France before the revolution.

el Wt % wew F w6 w1 snide-wmis il § § f ot 9 e
HifTT |

Explain any five socio -economic conditions of Russia at the beginning of the
twentieth century ?

arerat JOR

oo st et foramy &Y IS g faRTedarsdl s SaRe St

Explain any five features of Hitler’s Nazi ideology.

TEEI9IE TSR i Tl diw fagioaist] s s wifeg |

Explain any five characteristics of Peninsular plateau ?

A= & 9l § HiE Ui 9% fafeu

Write any five arguments in favour of democracy.

dfaum =t gy faf@y ) dras ¥ 39 T8 & faveraor sifs |

Define Constitution. Analyse its importance in a democracy.

BRa il o1 /= 7l § 1 3 SIS S oY TU1 I8 o BTl IR FiIC |

What is meant by Green Revolution. Explain two merits and two demerits of
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30.

31.

IR W SUSTR] & 6= 9l Wel o1 ST iy |

Explain any five effects of unemployment in India.

()

(i)

(31.1)
(31.2)
(31.3)
(31.4)

Note :

(31.1)
(31.2)
(31.3)
(31.4)

f&u gU R & TerifTE mmmEiEs # (A) $R (B) | Q) wew fafea Rl g

g, 2 @ T SEERR % STUR W 3 el it geuH W qrtas § € fafwa
el W3 wE M fafEy |

(A) S H AETER 02 % e I EY 998

(B) S YN Wi T FEeaq0l A1

I At W € FrAfaiad ® Sugs gadl gR1 SNigd T§ S WEl AW
fafew|

(C)  TedE R K,

(D) ¥RA & BT Y- =1 Sfagord fog

Two features A and B are shown in the political outline map of India.
Identify these features with the help of following information and write
their correct names on the lines marked on the map.

(A)  Chain of Islands lying close to the Malabar coast of Kerala.

(B) Important river of northern India.

On the same political outline map of India, locate and label the following
items with appropriate symbols.

(C)  Mountain peak K2

(D)  Southern most point of mainland of India

Freatafad wea shae gleaniya udientel & o 99 ®Hie 31 &
wWE

AR 2 & e & g9 99 =1 =M fafe)

T S &F 9 1AM fafay |

gRa ® fedrera s ged S 9 % 4w fafen

oo 3ia fre T o smafeem ?)

The following questions are for the visually impaired candidates only
in lieu Q.No. 31.

Name the chain of Islands close to the Malabar coast of Kerala.

Name the head waters of the Ganga.

Name the highest peak of Himalayas in India.

Name the state in which Chilika Lake is situated.
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